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Medicinal Chemistry

.

Plants receive their nutrients from ? |

(1) Chlorophyll (2) Atmosphere
G Tigks* - <o @) Soil
Common name of washing soda is :

(1) Sodium Carbonate

(2) Calcium bicarbonate

(3) Sodium bicarbonate E

(4) Calcium carbonate

Which of the gas is not known as green house gas ?

(1) Methane . (2) Nitrous oxide
(3) Carbon Dioxide 4) Hydrogén
Hardness of water can be removed by adding ?

(1) Chlorine

(2) Washing Soda

(3) Potassium Permanganate

(4) Bleaching Powder

Which scientist discovered the radio active element 'Radium' ?
(1) .Isaac Newton '(2) Albert Einstein

(3) Benjamin Franklin ' (4) Marie Curie
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10.
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The word Satyamev Jayate' inscribed below the base plate of the emblem o_
India are taken from :

(1) Rigveda
(2) Satapatha Brahmana

(3) Mundaka Upanishada

(4) Ramayana

The absorption of ink by blo’ctingj.r paper involves :
(1) Viscosity of ink

(2) Capilary action phenomenon

(3) Diffusion of ink through the blotting

(4) Syphon action | ' ' 2 7'5';‘

Combination of Satva, Atma and Sharir is known as :
(1) Tridosh (2) Trimarma

(3) Trisutra : : (4) Tridanda

All are the types of Kapha except
(1) Sleshaka (2) Kledaka

(3) Bodhaka (9 Sadhaka L

Upanishadas are in number ?
ms % o 2 18 S

3) 51 @) 108 |




11. The major product of addmon r(,actlon of equx molar amoum of Bl’v and cyclope

at hlgh temperature is :

1

Br~ ; i _Br

3. 4. None of these
Br: i : .,Br
Br Br
12. The major product of mono chlorination of ortho-nitrotoluens: is :
1. 2.
. CHj CHs
NOZ \ '/ N02
;L :cz . ci Z
| | 4,
CHs
NO, iy CHs
) Cl
Cl ) .

13. Comipound does not give haloform reaction is .

1. CH;CH,OH 2. CH;CH,.CH-0OH

3. CH;CH(OH)CH, 4. CH3COCH;
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14. Compound does not show only one signal in "THANMR ¢ oo e

1. CH;COCH; : 2. CH;CHj
3. CHy-0-CH - 4. CH;CH;CH;
15. Which of the following can be used as an oxidizing agent for coﬁversion' of 1 alcohol into
aldehyde :
1. Pyridinium Chlorochromate ‘ 2. Tollen’s Reagent

& ,
3. KMnO,4 /OH 4. Conc. HaSO4

| 16. Methane can be pljepared by :

| 1. Wittig Reaction _ 2. Wurtz Reaction

3. Frankland Reaction 4, Decarboxylation

17. Highest energy electronic transition is :

l.c-o* ' 2. 11-T1*
3.n-o* 4.n-I1*
18. Nicotine is derivative of:

1. Pyridine o 2. Pyrimidine

3. Quinoline 4. Isoquinoline

19. The configuration (R, S-Notation) at C-1 and C-6 of the compound below is :
o 7 v

1.1S. 68 - - 2.18. 6R
3. 1R, 6R ” 4.1R, 6S
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20.

21,

22.

23.

24.

25.

26.

27.

H3Q" ion will have shape :
1. Trigonal Planar | 2. Pyramidal
3. Angular 4. None of these
The reaction that proceeds through a carbocation species is -
l. Friedal-Crafts Reaction 2. Wittig Reaction
3. Claisen Reaction 4. Aldol Condensation
The optical rotation of freshly prepared solution of a-D glucose changes gradually from 111°
to 52.5% due to
1. Decomposition 2. Racemization
3. Mutarotation 4. Partial Resolution
Which of the following is an organometallic compound : .
1. Sodium methdxide 2. Lithium acetate
3. Lithium dimethylamide 4. Phenyl lithium
Alanine is similar to serine in the same way that : ‘
1. Val is similar to Thr | 2. Phe is similar to Tyr
3. Phe is similar to Trp 4. Ser is sirnilar to Thr
Diabetic patients are advised a low glycaemic iﬁdex diet. The reason for this is :
|. They require less carbohydrate than healthy individuals
2. They cannot assimilate ordinary carbohydrates

. They need to have slow, but sustained release of glucose in their blood stream

2

4. They can tolerate lower, but not higher than normal blood sugar levels
Which is true statement for B-oxidation of fatty acids :

1. Formation of malonyl Co-A 2. Formation of acetoacetyl ACP

3. Transport of acyl Co-A into mitochondria 4. Use of NADPH-

The globular protein when treated with organic solvent, gets denatured. The main interaction

which g affected on treatment with organic solvent is :

1. Hydrogen bonds 2. Covalent bonds

3. fonic interaction 4. Hydrophobic interaction
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28. Which class of immunoglobulins will increase, in a case of allergy :

1. IgA 219G
3. IgM 4. 1gE

29. The amino acid derivative hormone epinephriné is responsible for :
I. Release of lipids by adipose tissue 2. Glycogen breakdown
3. Increased cardiac activity 4. All of these

30. Which one of the following is incorrect for the isotopes of hydrogen :

1.'H ‘ 2H

[§9]

3
3.°H

o

. None of these

31. Which of the following is true:

™o

1. Amoxicillin is antimalarial . Paracetamol is antibiotic

3. Ampicillin is antipyretic 4. Chloroquine is antimalarial
32. Which of the following is correct for transition metals giving coloured ions and exhibiting

variable valencies :

. Completely filled d-orbitals

to

. Half or completely filled d-orbitals

. Incompletely filled d-orbitals

(OS]

4. Several co-ordination compounds / completely vacant d-orbitals
33. Which of the following is incorrect:

1. Fog is one of the examples of colloidal system

S0

. Lyophilic and lyophobic sols are some of the types of colloidal systems

(U8}

. Milk and cheese are some of the examples of colloidal systems
4. Micelle is not the example of colloidal system

34. Which of the following is correct in exhibiting the diagonal relationship :

1. Li with Al ' 2. Be with Al
3. Na with Ca 4. H with CI
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35.

36.

37.

38.

39.

40.

Which of the following is incorrect :

1. The bond-order of Hes is zero

o

. The bond-order of Ha is |

Lo

- Outer electronic configuration of all inert gas elements is np® ns?

N

. Outer electronic configuration of all inert gas elements is hp6 ns’ except that of He
Which of the following is‘true for the superphosphate of lime -
. CaSO, | 2. Ca(H;PO,),
3. A mixture of Ca(H,POy), and CaSO, 4. Ca3(POy),
An énzyme affects the rate of a chemical reaction by :
I. Decreasing the free energy of the reaction
2. Increasing the free energy of the reaction
3. Lowering the energy of activation of the reaction
4. Raising the energy of activation of the reaction
Beer-Lambert Law does not hold good if the absorbance is méasured :
I. At the absorbance maxima
2. Using a monochromatic light
3. Below the critical maximum solute conéemration

4. Above the critical maximum solute concentration

Which of the following six-membered ring compounds has the most planar structures:
1. Glucose 2. Cyclohexane
3. Inositol 4. Cytosine

Each of the following may be used to estimate the molecular weight of a protein Except:
I. Sucrose density gradient centrifugation 2. lon exchange chromatography

_ 3. SDS (sodium dodecyl sulfate) gel electrophoresis 4. Gel filtration chromatography
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Attempt any five questions. Write answer in 150-200 words. Each question carri
16 marks. Answer each question on separate page, after writing Question Number.

1. Write different kinds of macromolecules present in our body.

2. Write significance of cholesterol in our body.

3. What is Beer-Lambert's Law?

4. Metabolic significance of fructose-1,6-biphosphate

5. .Biochemical blood picturebofa patient with metabolic syndrome

6. A. Indicate, how will you differentiate with the help of IR spectroscopy?
(1) Phenol and Benzoic acid
(1) Diethy! ketone and Ethylamine

B. Give the number of signals énd their approximate chemical shifts for the following
compounds in PMR spectrum :

(1) Methanol
(ii) Methyl ethyl ketone

7. Isoprene Rule

8. Accounts for the various products in the following reaction :

— n-C;H,0H
HNO, |—— isopropanol
n-CgH;NH2 - 1-chloropropanol
. HCl \—— 2-chloropropane
— propene

9. A hydrocarbon (A) having the molecular formula CgH,, on oxidation gives a dicarboxylic ag
which on nitration gives only one mononitro compound. Write the structure of A and B.
10. Explain, why the position-2 is favourable for nucleophilic substitution whereas position-3 i

favourable for electrophilic substitution reactions in pyridine?
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